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- FindRooct[Tan[t] = t, t]

FindRoot::fdss : Search spécification t should bie a list with 1 to 5 elemients. =

Gipti= FindRoot[Tan[t] = t, t]

in{sk= FindRoot [Tanlt] = t, {t, 1}]
cuse (£ 1.48307 x 1078}

ke Z = B.79
Cufg= 5.79

nsi= FindRoot [Tan[t] == ((z /t)*2-1) *0.5, {t, 1}]
ousl {£ > 1.33766}

migi= FindRoot[Tan[t] = ((z/t)*2-1)40.5, {t£, 2}]
Oulsl= {t = 3.95939}

FindRoot[-1 % Cot{t] = ((z/t)*2-1)+0.5, {t, 1}]

GarinE {t = 2.66357}
miivp= FindRoot[-1w Cot[t] = ({(z/%t)*2-1)*0.5, {t, 4}]

Guiid {€ > 5.17679}
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